AUGUSTA UTILITIES DEPARTMENT IN-HOUSE REQUISITION

	CHECK ALL THAT APPLY	I APPLY:				10	KEQUISITION #	#	
DATE:	DATE:10/25/2023	WATER	EQUIPMENT [CHEMICAL	§		ш	ROUTINE	
DIVISI	DIVISIONAugust Utilities WAREHOUSE		TOOLS [GASES	UNIFORM	ORM	SCADA	☐ EMERGENCY	
		SUPPLIES	SAFETY [✓ REPAIR		LIFT STATION V	INVENTORY	SOLE SOURCE	ш
FUND	FUND #: 50600000	SERVICE	OFFICE [MAINTENACE	E OTHER	¥.	BID ITEM	PREFER ITEM	
SHIP TO:	:0:	VENDOR:	Consolidated	Consolidated Pipe & Supply	Đ.	Ferguson Waterworks	orks	Macon Supply	
WARI	WAREHOUSE	ADDRESS:	10887 Old Atlanta Hwy	lanta Hwy	41	4188 Belair Frontage Rd	age Rd	2140 7th St	
1840 7	1840 Wylde Rd	PHONE #:	Covington, GA	Ą	Au	Augusta, GA		Macon, GA	
0101	100	QUOTED BY:	678-342-7666	9				478-743-1505	
			Trey Norman		ğ	oseph Greene		Robert Zimmerman	an
ITEM #	ITEM DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1.	20" MJ Gate Valve	3	15726.45		47179.35	16105.40	48316.2	19421.15	58263.45
2.	Open Right Horizontal				0	00	0	00	0
щ.	Bevel Gear Valve				0		0		0
4					0		0		0
'n					0		0		0
9					0		0		0
7.					0		0		0
ဆ					0		0		0
9.					0		0		0
10.					0		0		0
11.					0		0		0
12.					0		0		0
13.					0		0		0
14.					0		0		0
	SHIPPING CHARGES				0		0		0
	TO	TOTAL		471	47179.35	$\sqrt{}$	48316.2		58263.45
JUSTIF	JUSTIFICATION AND EXPLANATION FOR PURCHASE:	PURCHASE:					70		
							-		

Three more 20" valves needed for this 13th Street water line project. One 20" valve already submitted via Emergency approval procedure. Consolidated Pipe

has best overall price and shortest (7 to 8 day) lead time which is far superior to other bidders.

APPROVED BY:

REQUESTED BY:

Michael J. Bryant

use Mi

CONSOLIDATED PIPE AND SUPPLY CO., INC. CUSTOMER QUOTE

10887 OLD ATLANTA HWY

Quote Nbr: 368421 000 Page 1

COVINGTON GA 30014

Quote Date: 10/19/2023

0025 - TREY NORMAN

Job: 20" MATERIAL

BUS: 678-342-7666 WATTS: 800-540-9402 FAX: 678-342-9666

211638 - AUGUSTA RICHMOND CO

ATTN: TESS Good Until: 10/31/2023

1840 WYLDS ROAD To: E. JENNINGS

AUGUSTA GA 30909 Email: EJENNINGS@AUGUSTAGA.GOV

Line	Qty	Item	Size/Wall/Description	Price		Extended Price
1	4.0	266505	20 MUL A2361-23 MJ GV OL W/ BEVEL GEAR	15,726.45	EA	62,905.80
2	8.0	218423	20 CDI 06 MJ LP SLV L/ACC	969.89	EA	7,759.12
3	16.0	265392	20 SIP EZDP20 EZGRP DI REST W/ACC	445.65	EA	7,130.40
4	36.4	252854	20 CL350 DI SJ PIPE (18.2' JOINTS)	138.56	FT	5,043.58

Total:

82,838.90

Shipment: FOB Destination, Freight prepaid and Allowed

Thank you for the opportunity to quote on your requirements. If we can be of further assistance, please do not hesitate to call.

^{**}PER ROMAC, THEY DO NOT OFFER A ROMAC ALPHA COUPLING LARGER THAN 16".**

^{**}THIS MATERIAL HAS A 6-8 WEEK LEAD TIME TO BE AVAILABLE.**



FEL-AUGUSTA WATERWORKS #518 4188 BELAIR FRONTAGE ROAD AUGUSTA. GA 30909-9626

Phone: 706-860-2233 Fax: 706-855-7204

Del	iver	To

Matthew Kareis From:

Comments:

Page 1 of 1

12:05:02 OCT 20 2023

FEL-GEORGIA WATERWORKS #554

Price Quotation Phone: 706-860-2233

Fax: 706-855-7204

Bid No:

B590682

Bid Date:

10/20/23

Quoted By:

MCK

Customer:

COUNTY OF AUGUSTA RICHMON

535 TELFAIR SUITE 800

ROOM 105 CITY/CTY MUNICIPAL

ACCT DEPT BLDG (11) AUGUSTA, GA 30901

Cust Phone: 706-312-4127

Terms.

NET 10TH PROX

Ship To:

COUNTY OF AUGUSTA RICHMON

535 TELFAIR SUITE 800

ROOM 105 CITY/CTY MUNICIPAL

ACCT DEPT BLDG (11) AUGUSTA, GA 30901

Cust PO#:

Job Name:

20 VALVE'S

Item	Description	Quantity	Net Price	UM	Total
SP-M20A236123LN02	20 MJ GATE VLV HORI BEVEL GEAR 4-6 WEEKS	4	16105.400	EA	64421.60
					
PSVB562SW	2PC SCRW 16T/24B COMP CI VLV BX WTR IN STOCK	4	100.000	EA	400.00
JLSLA20	20X15 MJ C153 LONG SLV L/A 2-3 DAYS	8	848.650	EA	6789.20
	P				
120DEC	20 MEGALUG EBAASEAL ACCY PKG F/ DI 1-1/2 WEEKS	24	417.870	EA	10028.88
	mality-				
FT300P20	20 CL300 CL DI FASTITE PIPE 2-3 DAYS	40	126.430	FT	5057.20
		N	et Total:		\$86696.88

Tax: \$0.00 Freight: \$0.00 Total: \$86696.88

Quoted prices are based upon receipt of the total quantity for immediate shipment (48 hours). SHIPMENTS BEYOND 48 HOURS SHALL BE AT THE PRICE IN EFFECT AT TIME OF SHIPMENT UNLESS NOTED OTHERWISE. QUOTES FOR PRODUCTS SHIPPED FOR RESALE ARE NOT FIRM UNLESS NOTED OTHERWISE.

CONTRACTOR CUSTOMERS: IF YOU HAVE DBE/MBE/WBE/IVBE/SDVBE/SBE GOOD FAITH EFFORTS DIVERSITY GOALS/ REQUIREMENTS ON A FEDERAL, STATE, LOCAL GOVERNMENT, PRIVATE SECTOR PROJECT, PLEASE CONTACT YOUR BRANCH SALES REPRESENATIVE IMMEDIATELY PRIOR TO RECEIVING A QUOTE/ORDER.

Seller not responsible for delays, lack of product or increase of pricing due to causes beyond our control, and/or based upon Local, State and Federal laws governing type of products that can be sold or put into commerce. This Quote is offered contingent upon the Buyer's acceptance of Seller's terms and conditions, which are incorporated by reference and found either following this document, or on the web at https://www.ferguson.com/content/website-info/terms-of-sale Govt Buyers: All items are open market unless noted otherwise.

LEAD LAW WARNING: It is illegal to install products that are not "lead free" in accordance with US Federal or other applicable law in potable water systems anticipated for human consumption. Products with "NP in the description are NOT lead free and can only be installed in non-potable applications. Buyer is solely responsible for product selection.



HOW ARE WE DOING? WE WANT YOUR FEEDBACK!

Scan the QR code or use the link below to complete a survey about your bids: https://survey.medallia.com/?bidsorder&fc=518&on=23370

Quotation



2140 SEVENTH STREET
MACON, GA 31206
478-743-1505 Fax 478-741-1953
www.maconsupply.com

QUOTE TO: CITY OF AUGUSTA 452 WALKER ST STE 200 AUGUSTA, GA 30901

EVQTE GATE	QUOTE NUMBER
10/19/23	S2199945
ORDER TO: MACON SUPPLY COMPA	PASE NO
2140 SEVENTH STREET	, 1

SHIP TO: CITY OF AUGUSTA - UTILITIES DE 1840 WYLDS ROAD AUGUSTA, GA 30909

CUSTOMER NUMBER	Ç.	ISTONER ORDER RUMBER	REFERZE MANBER	SALE	SPERSON
5691				OUNT	
WRETE		SHIP VIA	TERNS	SHIP DATE	FREIGHT ALLOWED
ROBERT ZIM	MERMAN	OT OUR TRUCK	Net 10th Prox	11/24/23	No
DRUER GTY	PART NO		ESCRIPTION	mu.eda 19421.150	77684.60
4ea	84294 07 R	OP NUT AND SPUR	TE VALVE R/S WITH 2" GEAR OPERATOR	19421.150	77684.60
	7.04.01	*12-14 WEEK LEA		949 650	6780 20
8ea	12481	20" MJ DI LONG *2-3 DAY LEAD T		848.650	6789.20
16ea	63242		LUG WITH ACCESSORIES	425.550	6808.80
		FOR DUCTILE *2-3 DAY LEAD T	IME		
40ea	53036	20" CL350 SJ DI	PIPE	133.250	5330.00
		*4-6 WEEK LEAD	TIME TAXES NOT INCLUDED		
			87		
		T THE PARTY IN THE TAXABLE PARTY IN THE PART	b		
PRICES ARE		* IMPORTANT*** TO CHANGE WITHOU	T NOTICE IN TODAY'S	Subtotal S&H CHGS	96612.60
VOLATILE M	ARKET. PL	EASE CONFIRM PRI	CING BEFORE ORDERING		
WE APPRECI	ATE THE O	PPORTUNITY TO SE	RVE YOU!	Amount Due	96612.60